Two-pieces / Three-pieces Coupling TNCAN B
Three-pieces COUPLING
— RIS iE

7Y 58 31,
2
vix| 270 | - [160] 24 | 24 [21.75] 165] 40 [ 8 [195| 11 [175] 10 | 2 [195]225] 10 | 2 [195] M1ox155 [1.75] 155
300 11 |C24270-160
‘ Vo| - |330| - | 24| - |21.75/165| 40 | 12 |300| 13 | 20 [125| 2 |300| 15 | 12 | 4 |300 |M12x1.75 | 1.75| 1.55
vix| 270 | - | 160 30 | 24 |21.75] 165| 20 | 8 |195| 11 [175| 10 | 2 |195|225| 10 | 2 |195| M1ox1.5 | 1.75| 155
12 |c30270-160
Vo| - |330| - | 30| - |21.75/165| 40 | 12 300 | 13 | 20 [125| 2 |300| 15 | 12 | 4 |300 |M12x1.75 | 1.75|1.55
vix| 335 | - | 220| 48 | 24 |25.75| 205 | 48 | 12 258 | 14 | 20 |12 | 2 |258| 15 | 12 | 4 | 258 | M12x1.75 | 1.75| 1.55
13 |C48335-220
Vo| - |400| - | 48 | - 2575|205 | 48 | 12 |360| 14 | 20 [125| 2 |360| 15 | 12 | 4 |360 |M12x1.75 | 1.75| 1.55
Vix| 335 | - | 220 60 | 24 |2575| 205 | 48 | 12 |258 | 14 | 20 |12 | 2 |258| 15 | 12 | 4 | 258 |M12x1.75 | 1.75| 155
14 |C60335-220
Vo| - |400| - | 60| - 2575|205 | 48 | 12 |360| 14 | 20 [125| 2 |360| 15 | 12 | 4 |360 |M12x1.75 | 1.75|1.55
vix| 335 | - | 220|360 | 14 |2432] 205| 48 |12 |258 | 14 | 20 [12 | 2 |258| 15 | 12 | 4 | 258 |M12x1.75| 0.32] 0.27
15 |C360335-220
Vo| - | 400| - | 360 - |2432|205| 48 | 12 |360| 14 | 20 |125| 2 |360| 15 | 12 | 4 |360 |M12x1.75 | 0.32|0.27
6 lcaauzs a0 VX 45| - | 300 48 | 28 (2675|215 | 50 |12 |335| 14 |20 |12 | 2 |35 15 | 12 | 4 |335|M12x1.75| 1.75| 1.5
o B = 12 12 31 % {7 4 3, B 12 43 3L Vo| - |4s2| - | 48| - 2675 215| 50 | 12 |450| 14 | 20 [125| 2 |450| 15 | 12 | 4 | 450 |M12x1.75 | 1.75| 1.55
" ViX| 425 | - | 300 60 | 28 |2675| 215| 50 | 12 |335 | 14 | 20 |12 | 2 |335| 15 | 12 | 4 | 335 |M12x1.75 | 1.75 | 155
2B 1 3 = 17 |C60425-300
= P I Vo| - |482| - | 60 | - 2675 215|50 | 12 |450 | 14 | 20 |125| 2 |450| 15 | 12 | 4 |450 |M12x1.75 | 1.75| 1.55
=
iLic A 3l vix| 425 | - | 300 360 | 20 |25.42] 21.5| 50 |12 |335 | 14 |20 [12 | 2 [335| 15 | 12 | 4 |335 |M12x1.75| 0.42| 037
=5 o D= . 18 |C360425-300
= Vo| - | 482| - | 360 - |2542|215| 50 | 12 |450 | 14 | 20 |125| 2 |450| 15 | 12 | 4 |450 |M12x1.75 | 0.42|0.37
| H: | | N5 [PCD| K° [ de | n | 1o lcassaoars VX540 | - | 415 48 | 32 1295 24 |55 |12 |450| 14 |20 |12 | 2 450 15 | 12 | 4 |450| M12x1.75| 175|155
o1 leaati0.0a0 VX 110 | - [ 40 [ 24 [ 14 [1675[115] 30 [ 6 [60 [6s[11 |6 [ 2 [0 [30] 8 | 2 [0 Mextz5 175155 Vo| - |604| - | 48| - |2925 24 | 55 | 12 |570 | 18 | 26 |165| 2 |570| 15 | 12 | 4 |570 |M12x1.75| 1.75 | 1.55
Vo| - |170| - | 24| - [1675/115] 30 | 8 |140| 9 |14 |85 | 2 |140|225| 8 | 2 |140 | M8x1.25 | 1.75|1.55 20 lcsosiosns VX 540 | - | 415| 60 | 32 |2925| 24 | 55 |12 450 | 14 |20 |12 | 2 [4s0| 15| 12 | 4 | 450 |M12x1.7S | 1.75 155
02 lcsotto0ao X 10| - | 40 [ 30 |14 |1675/ 115 30 | 6 |60 |66 |11 |6 |2 |60 30| 8| 2 | 60| Mext25 175|155 Vo| - |604| - | 60| - |2925 24 | 55 | 12 |570 | 18 | 26 |165| 2 |570| 15 | 12 | 4 |570 |M12x1.75| 1.75 | 1.55
Vo| - |170] - |30 | - [1675/ 115 30 | 8 |140| 9 |14 |85 | 2 140|225 8 | 2 |140 | M8x1.25 | 1.75| 1.55
03 lcoatas.0eg VX 135 | - |60 | 24 | 18 [1875[135] 34 | 6 |80 |66 |11 |6 |2 |80 30| 8 | 2 |80 | Mexi.25 175155
Vo| - |175| - | 24 | - [18.75/135| 34 | 8 |150| 9 |14 |85 | 2 |150 |225| 8 | 2 |150 | M8x1.25 | 1.75| 1.55 lﬂﬂﬂﬂ“ﬂﬂﬂﬂlﬂﬂﬂﬂ No |PCD K°| di | n PCD mﬂ
vix135| - | 60 | 30 | 18 [18.75/135| 34 | 6 |80 |66 |11 | 6 | 2 |80 | 30| 8 | 2 | 80 | M8x1.25 | 1.75|1.55 Vix| 540 | - | 415|360 | 24 [2806] 24 [ 55 [ 12 [450 [ 14 [ 20 [12 | 2 [450] 15 [ 12 | 4 [450 |M12x1.75] 0.56] 0.5
04 |C30135-060 21 |C360540-415
Vo| - |175| - | 30 | - [1875/135| 34 | 8 (150 | 9 |14 |85 | 2 [150 |225| 8 | 2 |150 | M8x1.25 | 1.75 | 1.55 Vo| - | 604| - | 360| - |28.06| 24 | 55 | 12 |570| 18 | 26 |165| 2 |570| 15 | 12 | 4 |570 |M12x1.75 | 056 | 0.58
vix| 165| - | 80 | 24 | 20 2075/ 155| 38 | 6 (100 |66 |11 | 6 | 2 |100| 30 | 8 | 2 |100| M8x1.25 | 1.75| 155 Vix| 630 | - |490| 72 | 32 [3175| 24 | 60 | 12 530 |18 |26 |16 | 2 |530| 15 | 12 | 4 |530 |M12x1.75| 1.75| 155
05 |C24165-080 22 |C72630-490
Vo| - |220| - | 24| - |2075/155| 38 | 8 |195| 11 175|105 | 2 |195 |225| 10 | 2 |195 | M10x15 | 1.75| 1.55 Vo| - | 700 - | 72| - |31.75| 24 | 60 | 18 |660 | 18 | 26 |165| 2 |6e0| 10 | 12 | 4 |60 |M12x1.75 | 1.75| 1.55
vix 165| - | 80 | 30 | 20 |2075/155| 38 | 6 |100 |66 |11 | 6 | 2 |100| 30 | 8 | 2 |100| M8x1.25 | 1.75| 155 vix| 630 | - | 490|360 | 28 [3067| 24 | 60 |12 |530| 18 | 26 |16 | 2 |530| 15 | 12 | 4 |530 |M12x1.75| 0.67| 058
06 |C30165-080 23 |C360630-490
Vo| - | 220 - | 30| - |2075/155| 38 | 8 |195| 11 175|105 | 2 |195 |225| 10 | 2 |195 | M10x15 | 1.75| 1.55 Vo| - | 700| - | 360| - [3067] 24 | 60 |18 |660| 18 | 26 [165| 2 |660| 10 | 12 | 4 | 660 | M12x1.75 | 0.67| 0.58
vix| 200 - |120 | 24 | 20 (2175165 | 20 | 8 [120| 9 |14 | 8 | 2 | 140|225 8 | 2 |140| Msx1.25 | 1.75| 155 Vix|820| - |670| 72 | 40 |39.25/ 285| 75 |18 [710 | 18 | 26 |16 | 2 |710| 10 | 14 | 4 |710 |M12x1.75| 1.75|1.35
07 |c24200-120 24 |C72820-670
Vo| - | 255| - | 24 | - |21.75/165| 40 | 10 |222 | 11 175|105 | 2 [222| 18 | 10 | 2 |222 | M10x15 | 1.75| 1.55 Vo| - | 89| - | 72| - |39.25 285| 75 | 18 |850| 18 | 26 |165| 2 |850| 10 | 14 | 4 |850 |M12x1.75 | 1.75|1.35
vix| 200 - |120 | 30 | 20 2175165 | 20 | 8 [120| 9 |14 | 8 | 2 | 140|225 8 | 2 |140| Msx1.25 | 1.75| 155 Vix| 820 | - | 670|360 | 34 [3839|285| 75 |18 [710 |18 |26 |16 | 2 |710| 10 | 14 | 4 |710 |M12x1.75| 0.89|0.78
08 |C30200-120 25 |C360820-670
Vo| - | 255| - | 30 | - |21.75/ 165 40 | 10 |222| 11 175|105 | 2 |222| 18 | 10 | 2 |222 | M10x15 | 1.75| 1.55 Voo| - | 890| - | 360 - |3839|285| 75 | 18 850 | 18 | 26 |165| 2 |850| 10 | 14 | 4 |850 |M12x1.75 | 0.89|0.78
00 lcaursogzs VX 230 | - 135 | 24 | 22 2175 165| 40 |12 [165| 9 |14 |8 | 2 |165| 15| 8 | 2 |165| M8x1.25 |1.75 155 R ——
Vo| - | 290| - | 24 | - |21.75/165| 40 | 12 |258 | 11 175|105 | 2 [258| 15 | 12 | 2 |258 |M12x1.75 | 1.75| 1.55
vix|230| - |135 | 30 | 22 2175/ 165 | 40 |12 [165| 9 |14 | 8 | 2 |165| 15| 8 | 2 |165| Msx1.25 | 1.75| 155
10 |C30230-135
Vo| - |290| - | 30| - |21.75/165| 40 | 12 |258 | 11 175|105 | 2 |258| 15 | 12 | 2 |258 |M12x1.75| 1.75| 1.55

ARERBEBRUE - RY - BREMFITREZERN » ASTEA -

L
Bs=(&nh 0752 2268439 2268439 E-mail:hz@teng-xin.com www.teng-xin.com BEs=(&Dh 0752 2268439 2268439 E-mail:hz@teng-xin.com www.teng-xin.com



